
ΣΥ
Ν

ΤΕ
Λ

Ε
ΣΤΗ

Σ
 ΣΥ

Μ
Π

Ε
Ρ

ΙΦ
Ο

Ρ
Α

Σ

ΣΥ
Ν

ΤΕ
Λ

Ε
ΣΤΗ

Σ Θ
Ε

Μ
Ε

Λ
ΙΩ

ΣΗ
Σ

ΣΕ
ΙΣΜ

ΙΚ
Η

 Ε
Π

ΙΚ
ΙΝ

Δ
Υ

Ν
Ο

ΤΗ
ΤΑ

- Ε
Λ

Λ
Η

Ν
ΙΚ

Ο
Σ Κ

Α
Ν

Ο
Ν

ΙΣΜ
Ο

Σ ΓΙΑ ΤΗ
 Μ

Ε
Λ

Ε
ΤΗ

 Κ
Α

Ι Κ
Α

ΤΑ
ΣΚ

Ε
Υ

Η
 Ε

Ρ
ΓΩ

Ν
 Α

Π
Ο

 Ο
Π

Λ
ΙΣΜ

Ε
Ν

Ο
 ΣΚ

Υ
Ρ

Ο
Δ

Ε
Μ

Α
 (Ε

Κ
Ω

Σ 2000)

- Ε
Λ

Λ
Η

Ν
ΙΚ

Ο
Σ Κ

Α
Ν

Ο
Ν

ΙΣΜ
Ο

Σ ΤΕ
Χ

Ν
Ο

Λ
Ο

ΓΙΑ
Σ ΣΚ

Υ
Ρ

Ο
Δ

Ε
Μ

Α
ΤΟ

Σ

- Ε
Λ

Λ
Η

Ν
ΙΚ

Ο
Σ Κ

Α
Ν

Ο
Ν

ΙΣΜ
Ο

Σ Φ
Ο

Ρ
ΤΙΣΕ

Ω
Σ Δ

Ο
Μ

ΙΚ
Ω

Ν
 Ε

Ρ
ΓΩ

Ν

- Ε
Λ

Λ
Η

Ν
ΙΚ

Ο
Σ

 Α
Ν

ΤΙΣΕ
ΙΣΜ

ΙΚ
Ο

Σ
 Κ

Α
Ν

Ο
Ν

ΙΣΜ
Ο

Σ (E
A

K
 2003)

3. Φ
Ο

Ρ
ΤΙΑ

Ε
Π

ΙΚ
Α

Λ
Υ

Ψ
Η

 ΣΤΕ
ΓΗ

Σ (P
anel 50m

m
)

Π
Ο

ΣΟ
ΣΤΟ

 Α
Π

Ο
ΣΒ

Ε
ΣΗ

Σ

Κ
Α

ΤΗ
ΓΟ

Ρ
ΙΑ

 Ε
Δ

Α
Φ

Ο
Υ

Σ
ΣΠ

Ο
Υ

Δ
Α

ΙΟ
ΤΗ

ΤΑ
 Κ

ΤΙΡ
ΙΟ

Υ

4. ΣΕ
ΙΣΜ

ΙΚ
Ο

ΤΗ
ΤΑ

ΓΙΑ Π
Λ

Α
Κ

Α
 Ε

Π
Ι Ε

Δ
Α

Φ
Ο

Υ
Σ

s

ΓΕ
Ν

ΙΚ
Ω

Σ
C

25/30

C
16/20

ΣΚ
Υ

Ρ
Ο

Δ
Ε

Μ
Α

1. Υ
Λ

ΙΚ
Α

Χ
Α

Λ
Υ

Β
Α

Σ
                      S

500

2. Κ
Α

Ν
Ο

Ν
ΙΣΜ

Ο
Ι

: B: Θ
=1.00

: ζ=4%
:  q=1.50

: Ι, a=0.16
: Σ2,γ=1.00

ΓΙΑ ΣΚ
Υ

Ρ
Ο

Δ
Ε

Μ
Α

 Κ
Α

Θ
Α

Ρ
ΙΟ

ΤΗ
ΤΑ

Σ
C

12/15

- Ε
Υ

Ρ
Ω

Κ
Ω

Δ
ΙΚ

Α
Σ

 1 ΓΙΑ Φ
Ο

Ρ
ΤΙΑ

 Α
Ν

Ε
Μ

Ο
Υ

 Κ
Α

Ι Χ
ΙΟ

Ν
ΙΟ

Υ

ΓΙΑ Φ
.Ο

. Α
Π

Ο
 Χ

Α
Λ

Υ
Β

Α

5. Ε
Π

ΙΤΡ
Ε

Π
Ο

Μ
Ε

Ν
Η

 ΤΑ
ΣΗ

 Ε
Δ

Α
Φ

Ο
Υ

Σ:
6. Δ

Ε
Ν

 Υ
Π

Α
Ρ

Χ
Ε

Ι Π
Ρ

Ο
Β

Λ
Ε

Ψ
Η

 Μ
Ε

Λ
Λ

Ο
Ν

ΤΙΚ
Ω

Ν
 Ο

Ρ
Ο

Φ
Ω

Ν

Χ
ΙΟ

Ν
Ι

v=27,5 m
/sec, II

Α
Ν

Ε
Μ

Ο
Σ

S
          500   ΓΙΑ

 Δ
Ο

Μ
ΙΚ

Α
 Π

Λ
Ε

ΓΜ
Α

ΤΑ

- Ε
Υ

Ρ
Ω

Κ
Ω

Δ
ΙΚ

Α
Σ

 3 ΓΙΑ Μ
Ε

Λ
Ε

ΤΗ
 Κ

Α
Ι Κ

Α
ΤΑ

ΣΚ
Ε

Υ
Η

 Ε
Ρ

ΓΩ
Ν

 Α
Π

Ο
 Δ

Ο
Μ

ΙΚ
Ο

 Χ
Α

Λ
Υ

Β
Α

Δ
Ο

Μ
ΙΚ

Ο
Σ Χ

Α
Λ

Υ
Β

Α
Σ

    S
355 J0

1. Ο
Λ

Ε
Σ O

I Δ
ΙΑ

ΣΤΑ
ΣΕ

ΙΣ Π
Ο

Υ
 Δ

ΙΝ
Ο

Ν
ΤΑ

Ι ΣΤΟ
 Π

Α
Ρ

Ο
Ν

ΣΧ
Ε

Δ
ΙΟ

 Θ
Α  ΕP

IB
E

B
A

IΩ
Θ

Ο
Υ

Ν
 Α

Π
Ο

 
TO

N
 Κ

Α
ΤΑ

ΣΚ
Ε

Υ
Α

ΣΤΗ
 Ε

Π
ΙΤΟ

Π
Ο

Υ ΤΟ
Υ

 Ε
Ρ

ΓΟ
Υ

 Π
Ρ

ΙΝ
 A

Π
O

 Ο
Π

Ο
ΙΑ

Δ
Η

Π
Ο

ΤΕ Ε
Ρ

ΓΑ
ΣΙΑ.

2. O
LE

S
 Ο

Ι Ε
Ν

Ω
ΣΕ

ΙΣ Μ
Ε

ΤΑ
ΞΥ

 Κ
Ο

ΙΛ
Ο

Δ
Ο

Κ
Ω

Ν
 Η

 Κ
Ο

ΙΛ
Ο

Δ
Ο

Κ
Ω

Ν
 Κ

Α
Ι Λ

Α
Μ

Ω
Ν

 
G

IN
O

N
TA

I M
E

 S
Υ

Ν
Ε

Χ
Ε

ΙΣ Ε
ΣΩ

Ρ
Α

Φ
Ε

Σ Π
Λ

Η
Ρ

Ο
Υ

Σ Δ
ΙΕ

ΙΣΔ
Υ

ΣΗ
Σ.

3. Ο
Λ

Α TA
 E

LE
Υ

Θ
Ε

Ρ
Α Α

Κ
Ρ

Α
 ΤΩ

Ν
 Κ

Ο
ΙΛ

Ο
Δ

Ο
Κ

Ω
Ν

 Φ
Ρ

Α
ΣΣΟ

Ν
ΤΑ

Ι Μ
Ε

 Λ
Α

Μ
Ε

Σ Π
Α

Χ
Ο

Υ
Σ=5χλστ. Κ

Α
Ι  

ΣΥ
Ν

Ε
Χ

Η
 Ε

ΣΩ
Ρ

Α
Φ

Η
 Π

Λ
Η

Ρ
Ο

Υ
Σ Δ

ΙΕ
ΙΣΔ

Υ
ΣΗ

Σ.

Κ
Ο

Χ
Λ

ΙΕ
Σ

 , Ν
ΤΙΖΕ

Σ       8.8 Ε
Ν

 100 25 

4. ΣΕ
 Ο

Λ
Ε

Σ ΤΙΣ Δ
ΙΕ

Π
ΙΦ

Α
Ν

Ε
ΙΕ

Σ ΣΚ
Υ

Ρ
Ο

Δ
Ε

Μ
Α

ΤΟ
Σ Κ

Α
Ι ΣΙΔ

Η
Ρ

Ω
Ν

 ΣΤΟ
ΙΧ

Ε
ΙΩ

Ν
 Μ

Ε
ΤΑ ΤΗ

Ν
   

Ο
Λ

Ο
Κ

Λ
Η

Ρ
Ω

ΣΗ
 ΤΗ

Σ Κ
Α

ΤΑ
ΣΚ

Ε
Υ

Η
Σ Ε

ΙΣΠ
ΙΕ

ΖΟ
Ν

ΤΑ
Ι E

P
O

ΞΕ
ΙΔ

ΙΚ
Ε

Σ Ρ
Η

ΤΙΝ
Ε

Σ Δ
Υ

Ο
 ΣΥ

ΣΤΑ
ΤΙΚ

Ω
Ν,

Ω
Σ Ε

Π
ΙΣΗ

Σ Κ
Α

Ι ΣΤΑ
 Κ

Ε
Ν

Α
 Α

Π
Ο

 Ο
Π

Ο
Υ ΤΟ

Π
Ο

Θ
Ε

ΤΟ
Υ

Ν
ΤΑ

Ι Ν
ΤΙΖΕ

Σ.

Ζω
νη IΙΙ, Α

=518m

0,18 kN
/m

^2

ΓΕ
Ω

Ρ
ΓΙΟ

Σ Ε
. Κ

Ω
Ν

ΣΤΑ
Ν

ΤΙΝ
Ο

Υ
Δ

ΙΠ
Λ

Ω
Μ

Α
ΤΟ

Υ
Χ

Ο
Σ Π

Ο
Λ

ΙΤΙΚ
Ο

Σ
 Μ

Η
Χ

Α
Ν

ΙΚ
Ο

Σ
Α

Ρ
ΙΣΤΟ

ΤΕ
Λ

Ε
ΙΟ

Υ
 Π

Α
Ν

/Μ
ΙΟ

Υ
 Θ

Ε
Σ/Ν

ΙΚ
Η

Σ Α.Π
.Θ

.
Μ

Ε
Λ

Ο
Σ ΤΕ

Ε
 Α

Ρ
ΙΘ

Μ
. Μ

Η
ΤΡ

Ω
Ο

Υ 115523
Β

Λ
Α

Χ
Λ

Ε
ΙΔ

Η
 9, ΙΩ

Α
Ν

Ν
ΙΝ

Α, Τ.Κ. 45332
Α

.Φ
.Μ

. : 079418451 - Δ
Ο

Υ Α' ΙΩ
Α

Ν
Ν

ΙΝ
Ω

Ν

R
D

2855

2847

2964

5819

180
5819

153

6152

133

133

203

60 5

104
29 24

29

60 5

29 24 29 174

102 C
TR

'D

75 N
/S

72 N
/S

69 C
TR

'D

73 C
TR

'D

R
D

102
76

75
72

69
73

70

69

73

4 -150
R

H
S

70x7 x 5819

d=70
b=70

t=7
w

=7
k=

R
D

180
2580

180

2940

60 5
75 N

/S71 N
/S

75 N
/S

72 N
/S

4 -149
R

H
S

70x7 x 2580

d=70
b=70

t=7
w

=7
k=

R
D

-13

4915

153
4915

153

5221

69 C
TR

'D

73 C
TR

'D

69 C
TR

'D

73 C
TR

'D

R
D

69
73

69
73

120

6973

120

6973

7 -138
R

H
S

70x7 x 4915

d=70
b=70

t=7
w

=7
k=

R
D

10
5354

10

5374

5383

105 35

105 35

84 C
TR

'D
84 C

TR
'D

R
D

50 50

100

100

84
84

50
50

50
100

50

105 35

84

50
50

50
100

50

105 35

84

8 -137
R

H
S

70x7 x 5354

d=70
b=70

t=7
w

=7
k=

R
D

10
5415

10

5435

5383

95 25

105 35

84 C
TR

'D
110 C

TR
'D

R
D

25 25

51

50 50

100

84
110

50
50

50
100

50

105 35

84
25

25

25
51

25

95 25

110

4 -147
R

H
S

70x7 x 5415

d=70
b=70

t=7
w

=7
k=

R
D

3811
3860

-13

153
7683

180

8015

154
103

254

60 20

95
8

51 8

59 203
60 20

59 195

105 C
TR

'D

69 C
TR

'D
77 C

TR
'D

79 O
ffset N

/S

72 F/S

R
D

105
69

77
79

78
72

100

69

77

2 -164
R

H
S

100x10 x 7683

d=100
b=100

t=10
w

=10
k=

R
D

180
3493

180

3853

60 20

78 N
/S71 N

/S

78 N
/S

72 N
/S1 -198

R
H

S
100x10 x 3493

d=100
b=100

t=10
w

=10
k=

R
D

-13

4878

153
4873

158

5184

69 C
TR

'D

77 C
TR

'D

69 C
TR

'D

77 C
TR

'D

R
D

69
77

69
77

120

6977

120

6977

2 -165
R

H
S

100x10 x 4873

d=100
b=100

t=10
w

=10
k=


